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LOGARITHMIC FUNCTION
— ay _
If y =1Inx then = 1/x

Also Properties of In
In (ab) = lna + Inb;

In (%) =lna-Inb

[na™ = nina
solve by using In properties

Y=In(x*+1)
Y=x*3V7x — 14 /(1 +x%)*
Y =In 2x

Y =In (x)°

Y=(In)?

Y =In (x> - 3x+2)
Y=In(2++x)
Y=In(2/1+x%)
Y=In(Inx)
10.Y = InVinx

11.Y =x’ In (3 - 2x)
12.Y =x [in (x* = 2x)*]
13.Y=(x*+1)In(3-2x)
14.Y =V1 + In’ x
15.Y=Inx/1+Inx
16.Y = x°/1 + Inx

17.Y=x3V1+ x°?
18.Y5/x — 1/x + 1
19.Y= (x> = 8)"* Xe = 7x + 5/x> !
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Y= X3x2

Y= (3 +2x )™
Y=(1+x)Y
Y=x-x"
y=2

X" a*

a2x+1 ;

bx2

’

(a+b)

In(x/a) ;

In (ax* +bx +c¢);

In x>

In (x> +3);

XInx;

In (px + p)
In[a+x) / (@a=x)];
In {x Vx> %+ 1}

Vax -In(++vx );
InvVx +1;

In (1/Vx )
In{Vx-1+Vx+1};
Ina++vVx/a-Vx
Inx/(a-+va’-x
In(vVx 3vx +3 5V3+2)
X* (1+Inx);
In(2+x)/(x+1);
In x /3+/x

4+1
Yalnx. X"

1/4In x . uln x%)?%;
X3/2

In cos x/x*;
. Csc 6 x/Csc 2x;
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cosx—1/cosx-1;
cos 2X — cos x/sin” x
5x + 2 Inx/x + 3 Inx ;
x(1-x2)2/(1+x2)1/2
In (x+3);
In[(xX*+2)(x*+3)];
In In x*/(3 x — 4)?
In(3x+2);
In(1-2x);

In (4 -x°)

In (5% -3) ;
AV1+Inx;
.dn(In(x+1)



